- owginal . ExerciseNo.49 qu{’ﬂph
~ Read the following Passage an‘d,answ.elj the questions given At the end,

i For,tunaté‘ly,..however;z the growth (87) of industrialism has céihcided (bt 3 5 i
. the West with the growth of democracy: It is possible. now, if the population of the woyg
- does not increase too fast, for one man's labour to produce much more tharn is needed to
“ provide a'bare subsistence () for himself and his fammfé&h#iﬁielligem!
| d’émbcracy_’not_ _misled by som.'e‘ dogmatic creed (st jf) ‘this. poss.i'bility‘ will be used to
“raise the standard of life. It has been so used, to a limited extent (CEw5.7). in Bitain ang
AMM@ been so used more effectively but for war. Its use in raising the
“standard of life has depended. mainly upon three things: democracy; trade unionism, and
birth control. All three,  of course, havé incurred hostility (&>« =32) from the rich. I
these th’re_,,ie\ithing’s' can be extended to the rest of the world as it becomes ihdus,triélize.d,‘
and.if the danger of great wars can be eliminated ('L:/f" ), poverty can be_abolished ()
(tF throtghout the  whole world, and excessive hours of labour will no longer be
necessary anywhere. But without these three things, industrialism will creaté a regime
like that in which the Pharaohs built the pyramids. In particular, if world population
continues to increase at the present rate, the abolition of poverty and excessive work wil
beiotally impossible. : M’ 01&; oz 2_ ‘o | ' '
QUESTIONS: 4 i
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